

Elementary Equations

Edgar Valdebenito

February 20, 2021

ABSTRACT

In this note we give some series for the expression:

$$S = \frac{\pi}{4} \sqrt{\frac{\sqrt{13}-1}{78}} + \sqrt{\frac{\sqrt{13}-1}{78}} \tan^{-1} \left(\frac{\sqrt{5+2\sqrt{13}}-3}{\sqrt{5+2\sqrt{13}}+3} \right) + \sqrt{\frac{\sqrt{13}+1}{78}} \ln \left(\frac{1+\sqrt{13}+\sqrt{2\sqrt{13}-2}}{4} \right)$$

Series

$$S = \frac{4}{13} \sum_{n=0}^{\infty} (-1)^n \left(\frac{2}{13} \right)^n \sum_{k=0}^n \binom{n}{k} \frac{2^{-k}}{2n+2k+1} \quad (1)$$

$$S = \frac{4}{13} \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left(\frac{2}{13} \right)^n \sum_{k=0}^n (-1)^k \binom{n-k}{k} \left(\frac{13}{4} \right)^k \quad (2)$$

$$S = \frac{1}{3} \sum_{n=0}^{\infty} (-1)^n \left(\frac{1}{12} \right)^n \sum_{k=0}^{2n} \binom{2n}{k} \frac{1}{2k+1} \quad (3)$$

$$S = \frac{8}{13} \sum_{n=0}^{\infty} \binom{2n}{n} \frac{13^{-n}}{n+1} \sum_{k=0}^n \frac{(-3)^k 4^{n-k} \binom{n}{k}}{\binom{4n-2k+2}{2n-k+1} \binom{2n-k+1}{n-k}} \quad (4)$$

$$S = \frac{8}{13} \sum_{n=0}^{\infty} \left(-\frac{8}{13} \right)^n \frac{1}{(2n+1)! \binom{4n+2}{2n+1}} \sum_{k=0}^n \left(\frac{3}{8} \right)^k \binom{n}{k} \binom{2n+2k}{n+k} (n+k)! (n-k)! \quad (5)$$

$$S = \frac{1}{4} + \frac{16}{13^2} \sum_{n=0}^{\infty} \left(-\frac{2}{13} \right)^n (n+1) \sum_{k=0}^n \binom{n}{k} 2^{-k} \left(\frac{1}{2n+2k+3} + \frac{1}{2n+2k+5} \right) \quad (6)$$

$$S = \frac{4}{13} \sum_{n=0}^{\infty} \frac{(-1)^n}{4n+1} \left(\frac{1}{13}\right)^n F\left(n+1, 2n+\frac{1}{2}, 2n+\frac{3}{2}, -\frac{2}{13}\right) \quad (7)$$

$$S = \frac{4}{13} \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left(\frac{2}{13}\right)^n F\left(n+1, \frac{2n+1}{4}, \frac{2n+5}{4}, -\frac{1}{13}\right) \quad (8)$$

$$S = \frac{4}{13} \sum_{n=0}^{\infty} \frac{1}{2n+1} \left(\frac{2\sqrt{13}-2}{13}\right)^n F\left(2n+2, n+\frac{1}{2}, n+\frac{3}{2}, -\frac{1}{\sqrt{13}}\right) \quad (9)$$

$$S = \frac{4}{13} \sum_{n=0}^{\infty} \frac{c_n}{2n+1} \left(\frac{1}{52}\right)^n \quad (10)$$

where

$$c_{n+2} = -8c_{n+1} - 208c_n, \quad c_0 = 1, c_1 = -8 \quad (11)$$

$$S = \frac{i}{\sqrt{3}} \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left(\frac{1}{(1+2i\sqrt{3})^{n+1}} - \frac{1}{(1-2i\sqrt{3})^{n+1}} \right) \quad (12)$$

Remarks: $F(a, b, c, x)$ is the hypergeometric function, $i = \sqrt{-1}$, $\frac{\pi}{4} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1}$.

References

1. Boros, G., and Moll, V. : Irresistible Integrals, Cambridge University Press, 2004.
2. Gradshteyn, I.S., and Ryzhik, I.M. : Table of Integrals, Series, and Products. seventh edition, edited by Alan Jeffrey and Daniel Zwillinger, Academic Press, 2007.
3. Ramanujan, S. : Notebooks. Vols. 1, 2, Tata Institute of Fundamental Research, Bombay, 1957 .

E-mail : evaldeb314@gmail.com